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Question 1 
The price of a callable bond can be expressed as follows: 
Price of a callable bond = price of option-free bond – price of embedded call option 
 
An increase in interest rates will reduce the price of the option-free bond. However, to 
partially offset that price decline of the option-free bond, the price of the embedded call 
option will decrease. This is because as interest rates rise the value of the embedded call 
option to the issuer is worth less. Since a lower price for the embedded call option is 
subtracted from the lower price of the option-free bond, the price of the callable bond does 
not fall as much as that of an option-free bond. 
 
Question 2 
a) The value of the 3-year treasury bond is 103.373, as shown below 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  Today    Year 1   Year 2 Year 3 
 
  

103.373 

7.5000% 

100.711 

9.00 

8.4814% 

103.542 

9.00 

6.9440% 

99.450 

9.00 

9.6030% 

 

101.055 

9.00 

7.8620% 

102.408 

9.00 

6.4370% 

100.000 

9.00 

100.000 

9.00 

100.000 

9.00 

100.000 

9.00 



 
b. The current price of the bond is 103.373 as found in part i) and the price assumed in the 
question. The value of the 2-year call option is $2.5886, as shown below: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

  Today    Year 1            Year 2 

2.5886 

7.5000% 

2.076340 

8.4814% 

3.489232 
6.9440% 

1.4498 

99.4498 

 

3.055052 

101.0551 

4.407997 

102.4080 


